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2017 March Cisco Official New Released 100-105 Dumps in Lead2pass.com! 100% Free Download! 100% Pass Guaranteed!
How to 100% pass 100-105 exam? L ead2pass provides the guaranteed 100-105 exam dumps to boost up your confidence in 100-105
exam. Successful candidates have provided their reviews about our 100-105 dumps. Now Lead2pass supplying the new version of
100-105 VCE and PDF dumps. We ensure our 100-105 exam questions are the most complete and authoritative compared with
others, which will ensure your 100-105 exam pass. Following questions and answers are all new published by Cisco Official Exam
Center: http://www.lead2pass.com/100-105.html QUESTION 297Which two VLANSs are reserved for system use only? (Choose
two) A. 1B. 4095C. 4096D. OE. 1001Answer: BDExplanation:The VLANSs O and 4095 are reserved by the |IEEE 802.1Q
standard and you cannot create, delete, or modify them so they are the correct answers.Note:+ VLAN 0 and 4095 are reserved for
system use only. Y ou cannot see or use these VLANs.+ VLAN 1 and VLANs 1002-1005 are default VLANSs. Default VLANs are
created automatically and cannot be configured or deleted by users. + VLAN 2 to 1001 are normal VLANS. Y ou can create, use and
delete them. + VLAN 1002 to 1005 are normal VLANSs too but Cisco reserved for FDDI an Token Ring. QUESTION 299Which
name describes an PV 6 host-enable tunneling technique that uses 1PV 4 UDP,does not require dedicated gateway tunnels,and can
pass through existing IPV4 NAT gateways? A. dual stack XXB. dynamicC. TeredoD. Manual 6to4 Answer: C QUESTION
300Which sequence begins a unique local IPv6 addressin binary notation? A.  00000000B. 1111110C. 1111100D. 1111111
Answer: B QUESTION 301Which statement about 6to4 tunneling istrue? A.  One tunnel endpoint must be configured with |Pv4
onlyB. It establishes a point-to-point tunnelC.  Both tunnel endpoints must be configured with IPv4 onlyD. Both tunnel
endpoints must support 1Pv4 and IPv6 Answer: D QUESTION 302What istrue about ipv6 unique local addresses: A.  Glaobal idB.

Public routableC. SummarizationD. Unique prefix Answer: D QUESTION 304How many primary ipv4 addresses can be
assigned on router interface? A.  0B. 1C. 4D. Unlimited Answer: B QUESTION 305Which command is used to build DHCP
pool? A. ipdhcp conflictB. ipdhcp-server pool DHCPC. ipdhcp pool DHCPD. ipdhcp-client pool DHCP Answer: C All the
100-105 braindumps are updated. Get a complete hold of 100-105 PDF dumps and 100-105 practice test with free VCE player
through Lead2pass and boost up your skills. 100-105 new questions on Google Drive:
https://drive.google.com/open?id=0B3Syig5i8gpDSRoR0JIWVA2ZDQ 2017 Cisco 100-105 exam dumps (All 321 Q& As) from
Lead2pass. http://www.lead2pass.com/100-105.html [100% Exam Pass Guaranteed]
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